BLOW UP OF SOLUTIONS FOR A SEMILINEAR HYPERBOLIC EQUATION

YAMNA BOUKHATEM¹ AND BENYATTOU BENABDERRAHMANE

ABSTRACT. In this paper we consider a semilinear hyperbolic equation with source and damping terms. We will prove a blow up result of solutions for positive initial energy.

1. INTRODUCTION

Let Ω be a bounded domain of \mathbb{R}^n with a smooth boundary $\partial \Omega$. We are concerned with the blow up of solutions of an initial-boundary value problem for a semilinear hyperbolic equation with dissipative terms:

$$u_{tt} + Au - \alpha \Delta u_t + g(u_t) = \beta f(u), \quad x \in \Omega, \quad t \ge 0$$
(1.1)

$$u(x, t) = 0, \qquad x \in \partial\Omega, \tag{1.2}$$

$$u(x, 0) = u_0(x), u_t(x, 0) = u_1(x), \quad x \in \Omega,$$
(1.3)

where $\alpha > 0$, $\beta > 0$ and u_0 , u_1 are given functions. A is a second order elliptic operator where the coefficients are depended on x and t. f and g are some functions specified later.

In the case $A = -\Delta$, many mathematicians studied the problem (1.1)-(1.3). For $\alpha = 0, g(v) \equiv 0$ (absence of the damping term), the source term f(u), in the case where the initial energy is negative, causes the blow up of solutions (see [1, 8]). In contract, in the absence of the source term ($\beta = 0$), the damping term (with $\alpha = 0$) assures global existence for arbitrary initial data (see [7, 9]). The interaction between the damping and the source terms was considered by Levine [9, 10] in linear damping case ($\alpha = 0, g(v) \cong v$) and polynomial source term of the form $f(u) = |u|^{p-2}u, p > 2$. He showed that the solutions with negative initial energy blow up in finite time. Georgiev and Todorova [5] extended Levine's result to the nonlinear case, where the damping term is given by $|u_t|^{m-2}u_t, m > 2$. Precisely, they showed that the solution continues to exist globally 'in time' if $m \ge p$ and blows up in finite time if m < p and the initial energy is sufficiently negative. Vitillaro [16]

²⁰⁰⁰ Mathematics Subject Classification. 35B44, 35L15, 35L71.

Key words and phrases. Blow up, Local existence, Initial boundary value problem, Semilinear hyperbolic equation.

¹Corresponding author.

extended the result in to situation when the damping is nonlinear and the solution has positive initial energy. Recently, Yu [17] studied the same problem of Vittilaro with strongly damping term. He proved that the solution exists globally if E(t) < d, m < p and blows up in finite time in unstable set.

G.Li and al [11] considered the Petrovsky equation $u_{tt} + \Delta^2 u - \Delta u_t + |u_t|^{m-2}u_t = |u|^{p-2}u$ and proved the global existence of the solution under conditions without any relation between m and p, and established an exponential decay rate. They also showed that the solution blows up in finite time if p > m and the initial energy is less than the potential well depth. Messaoudi in [14] studied the following problem:

$$\begin{aligned} u_{tt} - \Delta u + a(1 + |u_t|^{m-2})u_t &= b|u|^{p-2}u, \quad x \in \Omega, \quad t \ge 0\\ u(x,t) &= 0, \quad x \in \partial \Omega\\ u(x,0) &= u_0(x), \quad u_t(x,0) = u_1(x), \quad x \in \Omega, \end{aligned}$$

where a, b > 0, p, m > 2. He showed that if the initial energy is negative, then the solutions blow up in finite time.

In this work, we will prove that if the initial energy is positive, then the solution of problem (1.1) - (1.3) blows up in finite time.

2. Preliminaries

In this section we shall give some assumptions and notations which will be used throughout this work.

 H_1) The elliptic operator A is defined as follows:

$$A(t)\varphi = -\sum_{i,j=1}^{n} \frac{\partial}{\partial x_i} \left(a_{ij}(x,t) \frac{\partial \varphi}{\partial x_j} \right),$$

where $a_{ij} \in C^1(\overline{\Omega} \times [0, \infty))$ $\forall 1 \leq i, j \leq n$ is symmetric and there exists a constant $a_0 > 0$ such that :

a)
$$\sum_{i,j=1}^{n} a_{ij}(x,t)\xi_i\xi_j \ge a_0|\xi|^2,$$

b)
$$\sum_{i,j=1}^{n} \left(\frac{\partial}{\partial t}a_{ij}(x,t)\right)\xi_i\xi_j \le 0$$

for all $(x, t) \in \overline{\Omega} \times (0, \infty)$ and $\xi = (\xi_1 \dots \xi_n) \in \mathbb{R}^n$. H_2) We assume that the function g(v) is increasing and $g(v) \in C^0(\mathbb{R}) \cap EJQTDE$, 2012 No. 40, p. 2 $C^1(\mathbb{R}^*)$. Furthermore, there exist two positive constants k_0 and k_1 such that:

a)
$$g(v)v \ge k_0 |v|^m$$

b) $|g(v)| \le k_1 |v| (1 + |v|^{m-2}),$

for all $v \in \mathbb{R}$ and $2 < m < \infty$.

 H_3) The function $f \in C^0(\mathbb{R}, \mathbb{R}_+)$, with the primitive

$$F(u) = \int_0^u f(t)dt,$$

satisfies

a)
$$f(s)s \ge pF(s)$$
,
b) $|F(s)| \le c_0 |s|^p$,

where $s \in \mathbb{R}$, $c_0 > 0$ and p > 2. A typical example of these functions is $f(u) = |u|^{p-2}u$.

Next we introduce some notations, which will be used in the sequel:

$$\begin{split} u(x,t) &= u \;; \quad \frac{\partial u}{\partial t} = u_t \;; \quad \frac{\partial^2 u}{\partial t^2} = u_{tt}; \\ (u,v) &= \int_{\Omega} u(x)v(x)dx; \quad \|u\|_{L^r(\Omega)} = \|u\|_r \;; \quad 1 \le r \le \infty, \end{split}$$

where $L^{r}(\Omega)$ is the Lebesgue space.

Remark. By using Poincaré's inequality and the Sobolev embedding theorem. Then, there exists a constant C_* depending on Ω , r only such that

$$\forall u \in H_0^1(\Omega), \quad \|u(t)\|_r \le C_* \|\nabla u(t)\|_2, \quad 2 \le r \le \frac{2n}{n-2}, \ n \ge 3$$
 (2.1)

3. LOCAL EXISTENCE OF SOLUTIONS

To allow for studying the local existence and blow up of solutions, we proceed to obtain a variational formulation of the problem (1.1) - (1.3). By multiplying equation (1.1) by $v \in H_0^1(\Omega)$, integrating over Ω and using integration par parts, it is easy to verify that under the hypothesis (H_1) the problem (1.1) - (1.3) is equivalent to the following variational problem:

$$(u_{tt}, v) + a(u, v) + \alpha(\nabla u_t, \nabla v) + (g(u_t), v) = \beta(f(u), v), \quad \forall v \in H_0^1(\Omega),$$

where

$$a(u,v) = (Au,v) = \sum_{i,j=1}^{n} \int_{\Omega} a_{ij}(x,t) \frac{\partial u}{\partial x_i} \frac{\partial v}{\partial x_j} dx.$$
(3.1)

By using the hypothesis (H_1) , we verify that the bilinear form a(.,.): $H_0^1(\Omega) \times H_0^1(\Omega) \longrightarrow \mathbb{R}$ is symmetric and continuous.

On the other hand, from H_1a) for $\xi_i = \frac{\partial u}{\partial x_i}$, we get

$$a(u,u) \ge a_0 \int_{\Omega} \sum_{i=1}^n \left| \frac{\partial u}{\partial x_i} \right|^2 dx = a_0 \left\| \nabla u \right\|_2^2, \tag{3.2}$$

which implies that a(.,.) is coercive.

Referring to [3] and [5], by using the precedent hypotheses we can demonstrate the following theorem, which confirms the local existence and uniqueness of a weak solution.

Theorem 3.1. Assume that H_1a , H_2 and H_3 hold. Suppose that $m \ge 2$, $2 \le p \le 2\frac{n-1}{n-2}$ if $n \ge 3$ and let $u_0 \in H_0^1(\Omega), u_1 \in L^2(\Omega)$, then there exists T > 0 such that the problem (1.1) - (1.3) has a unique local solution u(t) having the following regularities :

$$u \in L^{\infty}\left([0,T); H_0^1(\Omega)\right),$$

$$u_t \in L^{\infty}\left([0,T); L^2(\Omega)\right) \cap L^m\left(\Omega \times [0,T)\right) \cap L^2\left([0,T); H^1(\Omega)\right).$$

4. Blow-up of solutions

In this section, we will establish our main blow-up result concerning the problem (1.1) - (1.3). We set

$$\lambda_0 = \left(\frac{a_0}{c_0\beta}C_*^{-p}\right)^{\frac{1}{p-2}}, \quad E_0 = a_0(\frac{1}{2} - \frac{1}{p})\lambda_0^2.$$
(4.1)

We define the energy function associated to the solution u of the problem (1.1) - (1.3) by

$$E(u(t), u_t(t)) = E(t) = \frac{1}{2} \|u_t(t)\|_2^2 + \frac{1}{2}a(u(t), u(t)) - \beta \int_{\Omega} F(u)du, \quad t \ge 0$$
(4.2)

By multiplying equation (1.1) by u_t , integrating over Ω and using integration par parts. Then, under the stated assumptions (H_1b) and (H_2a) , we obtain the following result:

Lemma 4.1. Let u(x,t) be a solution to the problem (1.1) - (1.3). Then E(t) is decreasing function for t > 0 and

$$\frac{d}{dt}E(t) = -\alpha \|\nabla u_t(t)\|_2^2 - \int_{\Omega} g(u_t(t))u_t(t)dx +$$

$$+ \sum_{i,j=1}^n \int_{\Omega} \left(\frac{\partial}{\partial t}a_{ij}(x,t)\right) \frac{\partial u(t)}{\partial x_i} \frac{\partial u(t)}{\partial x_j}dx.$$
(4.3)

By using arguments similar to those used by Vitillaro [16], we prove the following Lemma, which is very important to obtain the blow-up result.

Lemma 4.2. Let u be a solution of (1.1) - (1.3) with initial data satisfy

$$E(0) < E_0 ; \quad \|\nabla u_0\|_2 > \lambda_0.$$
 (4.4)

Then there exists a constant $\lambda_1 > \lambda_0$ such that:

$$\|\nabla u(t)\|_2 > \lambda_1 ; \quad \|u(t)\|_p > C_*\lambda_1 , \quad \forall t \in [0, T].$$
 (4.5)

Proof. By using (H_3b) , from (4.2) it follows

$$E(t) \ge \frac{1}{2}a(u(t), u(t)) - \frac{c_0\beta}{p} \|u(t)\|_p^p.$$
(4.6)

Then, using (2.1) and (3.2) we have

$$E(t) \ge \frac{a_0}{2} \|\nabla u(t)\|_2^2 - \frac{c_0\beta}{p} C^p_* \|\nabla u(t)\|_2^p = Q(\|\nabla u(t)\|_2), \quad t \ge 0$$

then

- Q(s) has a single maximum value $E_0 = Q(\lambda_0)$ at λ_0 ,
- Q(s) is strictly increasing on $[0, \lambda_0)$,
- Q(s) is strictly decreasing on (λ_0, ∞) and $Q(s) \to -\infty$ as $s \to +\infty$.

Therefore, since $E(0) < E_0$, there exists $\lambda_1 > \lambda_0$ such that $Q(\lambda_1) = E(0)$. If we set $\lambda_2 = \|\nabla u_0\|_2$, then by (4.6) we have $Q(\lambda_2) \le E(0) = Q(\lambda_1)$, which implies that $\lambda_2 \ge \lambda_1$.

To establish $\|\nabla u(t)\|_2 > \lambda_1$, we suppose by contradiction that $\|\nabla u(t_0)\|_2 < \lambda_1$, for some $t_0 > 0$ and by the continuity of $\|\nabla u(.)\|_2$ we can chose t_0 such that $\|\nabla u(t_0)\|_2 > \lambda_0$. Again the use of (4.6) leads to

$$E(t_0) \ge Q(\|\nabla u(t_0)\|) > Q(\lambda_1) = E(0).$$

This is impossible since $E(t) \leq E(0)$, for all $t \geq 0$. To prove $||u(t)||_p > C_* \lambda_1$, we exploit (4.2) and (H₃b) to see

$$\frac{1}{2}a(u(t), u(t)) - \frac{c_0\beta}{p} \|u(t)\|_p^p \le E(t) \le E(0).$$
EJQTDE, 2012 No. 40, p. 5

Then

$$\frac{c_0\beta}{p} \|u(t)\|_p^p \ge \frac{a_0}{2} \|\nabla u(t)\|_2^2 - E(0)$$
$$\ge \frac{a_0}{2}\lambda_1^2 - Q(\lambda_1) = \frac{c_0\beta}{p}C_*^p\lambda_1^p.$$

Referring to [13], we will show the following theorem, which permit us to confirm that the solution of the problem (1.1) - (1.3) blows up in finite time.

Theorem 4.3. Suppose that

$$2 \le m (4.7)$$

Then any solution of (1.1) - (1.3), with initial data satisfying (4.4) blows up at finite time i.e., there exists $T^* < +\infty$ such that

$$\lim_{t \to T^{*-}} \left[\|u(t)\|_p^p + \|\nabla u(t)\|_2^2 + H(t) + \|u_t(t)\|_2^2 \right] = +\infty.$$

Proof. By contradiction, we suppose that the solution of the problem (1.1)-(1.3) is global, then for every fixed T > 0 there exists a constant C such that

$$\|u(t)\|_{p}^{p} + \|\nabla u(t)\|_{2}^{2} + H(t) + \|u_{t}(t)\|_{2}^{2} \le C \qquad \forall t \in [0, T].$$
(4.8)

We set

$$H(t) = E_0 - E(t), \quad \forall t \in [0, T].$$
 (4.9)

By Lemma 4.1, we deduce that $H'(t) \ge 0$. Thus by (4.4), we obtain

$$H(t) \ge H(0) = E_0 - E(0) > 0.$$
 (4.10)

From (4.9), (4.2) and (H_3b) , we get

$$H(t) \le E_0 - \frac{a_0}{2} \|\nabla u(t)\|_2^2 + \frac{c_0\beta}{p} \|u(t)\|_p^p$$

Then, from Lemma 4.2 it follows

$$H(t) \le E_0 - \frac{a_0}{2}\lambda_0^2 + \frac{c_0\beta}{p} \|u(t)\|_p^p$$

Hence

$$0 < H(0) \le H(t) \le \frac{c_0 \beta}{p} \|u(t)\|_p^p, \quad \forall t \in [0, T].$$
(4.11)

For ε small to be chosen later, we then define the following auxiliary function:

$$G(t) = H^{1-\sigma}(t) + \varepsilon \int_{\Omega} u_t(t)u(t)dx + \frac{\varepsilon\alpha}{2} \|\nabla u(t)\|_2^2, \qquad (4.12)$$

EJQTDE, 2012 No. 40, p. 6

where

$$0 < \sigma \le \min\left\{\frac{p-2}{2p}, \frac{p-m}{p(m-1)}\right\}.$$
 (4.13)

Let us remark that G is a small perturbation of the energy. By taking the time derivation of (4.12) and using a variational formulation, we obtain that

$$\frac{d}{dt}G(t) = (1 - \sigma)H^{-\sigma}(t)H_t(t) + \varepsilon \|u_t(t)\|_2^2 - \varepsilon a(u(t), u(t)) + (4.14) + \varepsilon \beta \int_{\Omega} f(u(t))u(t)dx - \varepsilon \int_{\Omega} g(u_t(t))u(t)dx.$$

By using (4.2), (H_3) and (4.9) from (4.14) we deduce that :

$$\frac{d}{dt}G(t) \ge (1-\sigma)H^{-\sigma}(t)H_t(t) + \varepsilon \left(\frac{p}{2}+1\right) \|u_t(t)\|_2^2 + \varepsilon pH(t) \qquad (4.15)$$
$$+ \varepsilon \left(\frac{p}{2}-1\right)a(u(t),u(t)) - \varepsilon \int_{\Omega}g(u_t(t))u(t)dx - \varepsilon pE_0.$$

Using the assumption (H_2b) , we get

$$\left| \int_{\Omega} g(u_t(t))u(t)dx \right| \le k_1 \int_{\Omega} |u_t(t)| |u(t)| dx + k_1 \int_{\Omega} |u_t(t)|^{m-1} |u(t)| dx.$$

Then we exploit the following Young's inequality :

$$XY \le \frac{\delta^r}{r}X^r + \frac{\delta^{-s}}{s}Y^s, \quad X, Y \ge 0, \quad \delta > 0, \quad \frac{1}{r} + \frac{1}{s} = 1,$$

with r = m and $s = \frac{m}{m-1}$ to get

$$k_1 \int_{\Omega} |u_t(t)|^{m-1} |u(t)| dx \le k_1 \frac{\delta^m}{m} \|u(t)\|_m^m + k_1 \frac{m-1}{m} \delta^{-\frac{m-1}{m}} \|u_t(t)\|_m^m, \quad (4.16)$$

for all positive constant δ .

By using Holder's inequality and (2.1) we get

$$k_1 \int_{\Omega} |u_t(t)| |u(t)| dx \le k_1 c(\lambda) C_*^2 \|\nabla u(t)\|_2^2 + k_1 c_1(\lambda) \|u_t(t)\|_2^2, \qquad (4.17)$$

where $c(\lambda)$, $c_1(\lambda)$ are positive constants.

Inserting (4.16), (4.17) and (3.2) in (4.15), we arrive at

$$\frac{d}{dt}G(t) \ge (1-\sigma)H^{-\sigma}(t)H_t(t) + \varepsilon pH(t) - \varepsilon pE_0 - \varepsilon k_1 \frac{\delta^m}{m} \|u(t)\|_m^m \quad (4.18)$$
$$- \varepsilon k_1 \frac{m-1}{m} \delta^{-\frac{m-1}{m}} \|u_t(t)\|_m^m + \varepsilon \left(\frac{p}{2} + 1 - k_1c_1(\lambda)\right) \|u_t(t)\|_2^2 + \varepsilon \left(a_0(\frac{p}{2} - 1) - k_1c(\lambda)C_*^2\right) \|\nabla u(t)\|_2^2.$$
EJQTDE, 2012 No. 40, p. 7

We observe that

$$a_0 \left(\frac{p}{2} - 1\right) \|\nabla u(t)\|_2^2 - pE_0 = a_0 \left(\frac{p}{2} - 1\right) \frac{\lambda_1^2 - \lambda_0^2}{\lambda_1^2} \|\nabla u(t)\|_2^2 + a_0 \left(\frac{p}{2} - 1\right) \lambda_0^2 \frac{\|\nabla u(t)\|_2^2}{\lambda_1^2} - pE_0,$$

where λ_1 is given in Lemma 4.2. From (4.5), it follows:

$$a_0 \left(\frac{p}{2} - 1\right) \|\nabla u(t)\|_2^2 - pE_0 \ge C_1 \|\nabla u(t)\|_2^2 + C_2, \tag{4.19}$$

where $C_1 = a_0(\frac{p}{2} - 1)\frac{\lambda_1^2 - \lambda_0^2}{\lambda_1^2}$, using Lemma 4.2, we have $C_1 > 0$ and by (4.9), we see that $C_2 = a_0(\frac{p}{2} - 1)\lambda_0^2 - pE_0 > 0$. Since $H_t(t) \ge k_0 ||u_t||_m^m$ and by (4.19), we get

$$\frac{d}{dt}G(t) \ge \left((1-\sigma)H^{-\sigma}(t) - \varepsilon\frac{k_1}{k_0}\frac{m-1}{m}\delta^{-\frac{m-1}{m}}\right)H_t(t) + \varepsilon pH(t) + \\ + \varepsilon \left(\frac{p}{2} + 1 - k_1c_1(\lambda)\right)\|u_t(t)\|_2^2 + \varepsilon \left(C_1 - k_1c(\lambda)C_*^2\right)\|\nabla u(t)\|_2^2 - \\ - \varepsilon k_1\frac{\delta^m}{m}\|u(t)\|_m^m.$$

At this point we choose δ so that $\delta^{-\frac{m-1}{m}} = MH^{-\sigma}(t)$, for M a large constant to be determined later, and substituting in the last inequality, we obtain

$$\frac{d}{dt}G(t) \ge \left((1-\sigma) - \varepsilon \frac{k_1}{k_0} \frac{m-1}{m} M \right) H^{-\sigma}(t) + \varepsilon p H(t) H_t(t) +$$

$$+ \varepsilon \left(\frac{p}{2} + 1 - k_1 c_1(\lambda) \right) \|u_t(t)\|_2^2 + \varepsilon \left(C_1 - k_1 c(\lambda) C_*^2 \right) \|\nabla u(t)\|_2^2 +$$

$$- \varepsilon \frac{k_1}{m} M^{1-m} H^{\sigma(m-1)}(t) \|u(t)\|_m^m.$$
(4.20)

Since p > m, we have

$$\int_{\Omega} |u(t)|^m dx \le C_3 \left[\int_{\Omega} |u(t)|^p dx \right]^{\frac{m}{p}},$$

where C_3 is a positive constant depending on Ω only. We also have from (4.11)

$$H^{\sigma(m-1)}(t) \int_{\Omega} |u(t)|^m dx \le C_3 \left(\frac{c_0\beta}{p}\right)^{\sigma(m-1)} \left[\int_{\Omega} |u(t)|^p dx\right]^{\sigma(m-1) + \frac{m}{p}}$$

Exploiting the following algebraic inequality:

$$z^{\tau} \leq z+1 \leq \left(1+\frac{1}{d}\right)(z+d), \quad \forall z \geq 0, \quad 0 < \tau \leq 1, \quad d \geq 0,$$

EJQTDE, 2012 No. 40, p. 8

with $z = ||u(t)||_p^p$, $e = 1 + \frac{1}{H(0)}$, d = H(0) and $\tau = \sigma(m-1) + \frac{m}{p}$, then the condition (4.13) implies that $0 < \tau \le 1$ and therefore,

$$\left[\int_{\Omega} |u(t)|^p dx\right]^{\sigma(m-1)+\frac{m}{p}} \le e\left(\|u(t)\|_p^p + H(0)\right) \qquad (4.21)$$
$$\le e\left(\|u(t)\|_p^p + H(t)\right), \quad \forall t \in [0,T].$$

Inserting the estimation (4.21) into (4.20) we have

$$\frac{d}{dt}G(t) \ge \left((1-\sigma) - \varepsilon \frac{k_1}{k_0} \frac{m-1}{m} M\right) H^{-\sigma}(t) H_t(t) +$$

$$+ \varepsilon \left(\frac{p}{2} + 1 - k_1 c_1(\lambda)\right) \|u_t(t)\|^2 + \varepsilon \left(C_1 - k_1 c(\lambda) C_*^2\right) \|\nabla u(t)\|_2^2 +$$

$$+ \varepsilon \left[pH(t) - e \frac{k_1}{m} M^{1-m} C_3 \left(\frac{c_0\beta}{p}\right)^{\sigma(m-1)} \left(\|u(t)\|_p^p + H(t)\right)\right].$$
(4.22)

At this point we choose $\lambda > 0$, (it is the case where $k_1 \max(c(\lambda), c_1(\lambda)) < \min\left(1 + \frac{p}{2}, \frac{C_1}{C_*^2}\right)$) such that

$$\begin{cases} K_1 = \left(\frac{p}{2} + 1 - k_1 c_1(\lambda)\right) > 0, \\ K_2 = \left(C_1 - k_1 c(\lambda) C_*^2\right) > 0, \end{cases}$$

and we can choose $M > \left[\left(\frac{1}{c_0 \beta} + \frac{1}{p} \right) e^{\frac{k_1}{m}} C_3 \right]^{\frac{1}{m-1}} \left(\frac{c_0 \beta}{p} \right)^{\sigma}$ so large enough so that (4.22) becomes,

$$\frac{d}{dt}G(t) \ge \left((1-\sigma) - \varepsilon \frac{k_1}{k_0} \frac{m-1}{m} M\right) H^{-\sigma}(t) H_t(t) + (4.23) + K_1 \|u_t(t)\|^2 + K_2 \|\nabla u(t)\|_2^2 + \varepsilon K_3 \left(\|u(t)\|_p^p + H(t)\right).$$

Once M is fixed, we pick ε small enough such that

$$\begin{cases} (1-\sigma) - \varepsilon \frac{k_1}{k_0} \frac{m-1}{m} M \ge 0, \\ G(0) = H^{1-\sigma}(0) + \varepsilon \int_{\Omega} u_1 u_0 dx + \frac{\varepsilon \alpha}{2} \|\nabla u_0\|_2^2 > 0. \end{cases}$$

Then, from (4.23) we deduce that:

$$\frac{d}{dt}G(t) \ge K\varepsilon \left[H(t) + \|\nabla u(t)\|_2^2 + \|u(t)\|_p^p + \|u_t(t)\|_2^2 \right],$$
(4.24)

where $K = \min(K_1, K_2, K_3)$. Hence $G(t) \ge G(0) > 0, \forall t \in [0, T]$. Now we set $r = \frac{1}{1-\sigma}$, by $(a+b)^r \le 2^{r-1}(a^r+b^r)$ for all positive a, b and EJQTDE, 2012 No. 40, p. 9 r > 1, we obtain on the other hand from (4.12),

$$G^{r}(t) \leq \left(H^{1-\sigma}(t) + \epsilon \int_{\Omega} u_{t}(t)u(t)dx + \frac{\varepsilon\alpha}{2} \|\nabla u(t)\|_{2}^{2}\right)^{r}$$

$$\leq C_{4}\left(H(t) + \left(\int_{\Omega} u_{t}(t)u(t)dx\right)^{r} + \|\nabla u(t)\|_{2}^{2r}\right),$$

$$G^{2}(r-1) = \left(1 - r - \left(1 - (\alpha)r\right)\right)$$

$$(4.25)$$

where $C_4 = 2^{2(r-1)} \max \{1, \varepsilon^r \max \{1, (\frac{\alpha}{2})^r\}\}$. For p > 2 and by using Holder's and Young's inequalities, we obtain

$$\left(\int_{\Omega} u(t)u_t(t)dx\right)^r \le \|u(t)\|_2^r \|u_t(t)\|_2^r \le C_5 \left(\|u(t)\|_p^{\mu r} + \|u_t(t)\|_2^{\theta r}\right), \quad (4.26)$$

where $\frac{1}{\mu} + \frac{1}{\theta} = 1$ and C_5 depending on Ω , μ , θ only. We take $\theta = 2(1 - \sigma)$, to get $\mu r = \frac{2}{1-2\sigma} \leq p$ by (4.13). Therefore (4.26) have more

Therefore (4.26) becomes

$$\left(\int_{\Omega} u(t)u_t(t)dx\right)^r \le C_5\left(\|u(t)\|_p^{\frac{2}{1-2\sigma}} + \|u_t(t)\|_2^2\right).$$

Again by using (4.13) and (4.21) we deduce

$$\left(\|u(t)\|_{p}^{p}\right)^{\frac{2}{(1-2\sigma)p}} \leq e\left(\|u(t)\|_{p}^{p} + H(t)\right) \leq e\left(\|\nabla u(t)\|_{2}^{2} + \|u(t)\|_{p}^{p} + H(t)\right),$$
so

$$\left(\int_{\Omega} u(t)u_t(t)dx\right)^r \le eC_5\left(\|\nabla u(t)\|_2^2 + \|u(t)\|_p^p + H(t) + \|u_t(t)\|_2^2\right).$$
(4.27)
From (4.8) and (4.10), we have

From (4.8) and (4.10), we have

$$\|\nabla u(t)\|_{2}^{2r} \le C^{\frac{1}{1-\sigma}} \le \frac{C^{\frac{1}{1-\sigma}}}{H(0)}H(t).$$
(4.28)

It follows from (4.27), (4.28) and (4.25) that

$$G^{r}(t) \leq C_{6} \left(\|\nabla u(t)\|_{2}^{2} + \|u(t)\|_{p}^{p} + H(t) + \|u_{t}(t)\|_{2}^{2} \right), \quad \forall t \in [0, T], \quad (4.29)$$

where $C_6 = C_4 \left(1 + eC_5 + \frac{C^{\frac{1}{1-\sigma}}}{H(0)} \right)$. Combining (4.29) and (4.24), we arrive at

$$\frac{d}{dt}G(t) \ge \frac{\varepsilon K}{C_6} G^{\frac{1}{1-\sigma}}(t), \quad \forall t \in [0,T].$$
(4.30)

A simple integration of (4.30) over (0, t) then yields

$$G^{\frac{\sigma}{1-\sigma}}(t) \ge \frac{1}{G^{\frac{-\sigma}{1-\sigma}}(0) - K\varepsilon\sigma t / [C_6(1-\sigma)]}, \quad \forall t \in [0,T].$$

$$(4.31)$$

Therefore G(t) blows up in a time

$$T^* \leq \frac{C_6(1-\sigma)}{K\varepsilon\sigma G^{\frac{\sigma}{1-\sigma}}(0)},$$
EJQTDE, 2012 No. 40, p. 10

the estimate (4.31) is valid on [0, T] for every fixed T > 0, then we can choose T such that $T^* < T$. Furthermore, we get from (4.29) that

$$\lim_{t \to T^{*-}} \|\nabla u(t)\|_2^2 + \|u\|_p^p + H(t) + \|u_t\|_2^2 = +\infty,$$

which is in contradiction with (4.8). Thus, the solution of the problem (1.1)-(1.3) blows up in finite time.

Remark. For E(0) < 0, we set H(t) = -E(t), instead of (4.9) and use arguments similar to those used in the proof of Theorem 4.3 to deduce that the solution blows up in finite time.

References

- J. M. Ball, Remarks on blow-up and nonexistence theorems for nonlinear evolution equations, Quart. J. Math. Oxford Ser., (2) 28, no. 112,(1977), 473-486.
- [2] A. Benaissa and S. A. Messaoudi, Exponential decay of the solution of a nonlinearly damped wave equation, Nonlinear Differ. Equ. Appl, 12, (2005), 391-399.
- [3] Y. Boukhatem, B. Benabderrahmanne, Méthode de Faedo-Galerkin pour un problème aux limites non linéaires, Anal. Univ. Oradea, fasc. Matematic, Tom XVI,(2009), 167-181.
- [4] F. Gazzola and M. Squassina, Global solutions and finite time blow-up for damped semilinear wave equations, Ann. I. H. Poincaré, 23, (2006), 185-207.
- [5] V. Georgiev and G. Todorova, Existence of a solution of the wave equation with nonlinear damping and source terms, J. Differential Equations, vol. 109, no. 2, (1994), 295-308.
- [6] Haraux, A. and Zuazua, E., Decay estimates for some semilinear damped hyperbolic problems, Arch. Rational Mech. Anal., 150, (1988), 191-206.
- [7] Kalantarov, V. K. and Ladyzhenskaya, O. A., The ocurence of collapse for quasilinear equations of parabolic and hyperbolic type, J. Soviet Math.10, (1978), 53-70.
- [8] Kopackova, M., Remarks on bounded solutions of a semilinear dissipative hyperbolic equation, Comment. Math. Univ. Carolin, 30(4), (1989), 713-719,

- [9] H. A. Levine, Instability and nonexistence of global solutions of nonlinear wave equations of the form $Pu_{tt} = Au + F(u)$, Trans. Amer. Math. Soc,192, (1974), 1-21.
- [10] H. A. Levine, Some additional remarks on the nonexistence of global solutions to nonlinear wave equations, SIAM Journal on Mathematical Analysis, vol. 5, (1974), 138-146.
- [11] G. Li, Y. Sun, W. J. Liu, Global existence and blow-up of solutions for a strongly damped Petrovsky system with nonlinear damping, Applicable Analysis, 91(3) (2012), 575-586.
- [12] J. L. Lions, Quelques méthodes de résolution des problèmes aux limites non linéaires, Dunod, Paris, (1969).
- [13] W. J. Liu, General decay and blow-up of solution for a quasilinear viscoelastic problem with nonlinear source, Nonlinear Anal., vol. 73, no. 6, (2010), 1890-1904.
- [14] S.A. Messaoudi, *Global nonexistence in a nonlinearly damped wave equation*, Applicable Analysis, vol. 80, (2001), 269-277.
- [15] L. E. Payne and D. H. Sattinger, Saddle points and instability of nonlinear hyperbolic equations, Israel J. Math, 22(3-4), (1975), 273-303.
- [16] E. Vitillaro, Global nonexistence theorems for a class of evolution equations with dissipation, Archive for Rational Mechanics and Analysis, vol. 149, no. 2, (1999), 155-182.
- [17] S.Q. Yu, On the strongly damped wave equation with nonlinear damping and source, Electron. J. Qual. Theory Differ. Eqns 2009(39) (2009), 1-18.

(Received November 2, 2011)

(B. Yamna, B. Benyattou) LABORATORY OF COMPUTER SCIENCES AND MATHE-MATICS, FACULTY OF SCIENCES, LAGHOUAT UNIVERSITY, P.O. BOX 37G, LAGHOUAT (03000), ALEGRIA.

E-mail address: byamna@yahoo.fr

E-mail address: bbenyattou@yahoo.com